
Technical Hotline			   			   Customer Central	   	       support@customer-central.com.au
1800 356 717						      1300 364 748			                          www.argentaust.com.au

ARGENT SS2723101 SCOPE SOFT SQ SHOWER SYSTEM 9LPM

1.	 INSPECT ALL PARTS PRIOR TO INSTALLATION FOR SUITABILITY 
AND/ OR DEFECTS

2.	 ANY SUSPECTED DEFECT SHOULD BE REPORTED AS SOON AS 
POSSIBLE

3.	 SHOULD ANY PRODUCT BE INSTALLED DESPITE A FAULT HAVING 
BEEN FOUND AND REPORTED, ARGENT WILL NOT ACCEPT 
LIABILITY FOR THE COST OF LABOUR TO REMOVE AND INSTALL 
ANY REPLACEMENT PRODUCT/S

NOTES PRIOR TO INSTALLATION

1.	 Inlet pressure range 100 – 500kpa

2.	 Maximum hot water temperature 60 C

3.	 AS/NZS 3500 requires 500 kPa maximum operating 
pressure at any outlet within a building

4.	 Shower is suitable for mains pressure application and is 
not suitable for use with low or unequeal pressure.

5.	 Shower may not be suitable for instantaneors water 
heaters, tempering valve and thermostatic mixing valves.

PRESSURE AND TEMPERATURE REQUIREMENTS

Argent Scope Shower System
Care & Installation Guide

Technical Hotline			   			   Customer Central	   	       support@customer-central.com.au
1800 356 717						      1300 364 748			                          www.argentaust.com.au

1.	 Shower frame with slide diverter and wall mount bracket

2.	 Three function handpiece & overhead shower

3.	 1500mm gloss Silverflow Shower hose

4.	 Bag of fittings, screws and wall plugs

COMPONENT CHECK LIST

1.	 Attach shower top adaptor bracket to water entry point. 
Recommended water entry between 1700-1900mm off 
finish floor.

2.	 Mark and measure bottom wall bracket location, 635mm 
centres between fixing points

3.	 Secure the bottom wall mount bracket to the wall.
4.	 Secure the shower rail onto the wall mount brackets and 

fasten the grub screws.
5.	 Connect the handpiece, overhead shower and hose to 

the shower.
6.	 Clean any packaging or installation debris from the site.

INSTALLATION

Please direct any feedback for this product to 
Customer Central: 

support@customer-central.com.au
or call 1300 364 748

WMKT21163
ASNZ 3662

*

1530

400

73
4

G1/2"

G1/2"

11
47

R 100

93°

Ry 4

119

23

33
*3
3

57,5
38

30

68

G1
/2
"

绘图
江门市霏尼格斯淋浴

制品科技有限公司(弯管部)

编码 T20BHXXS2201

校对
30*15扁方淋浴管

审核

批准 未标注公差依以下标准:
X.±0.20 ANGLE± 0.5°;.X±0.10 版本 1  共1页 第1 页 

单位 mm 比例 0,100 视图 材料 全铜 

序号  编  码   名    称   数量   材 质    规 格    备 注  

1 PRT0001 1

2 PRT0003 1

3 S22 T20上墙进水分水器 1 全铜 68*38*30

4 WAT00133ZCP T20-01上管焊接组件 1 H63 370*400*30*15

5 WAT00134ZCP T20-01下管焊接组件 1 H63 700*30*15

6 WPJA0053WXX M12*1.25快接接头 2 H59

7 WPJA0107WCP G1/2出水接头 1 H59 G1/2*18，M12*1.25

8 WPJA0190WCP G1/2出水接头 1 H59  23.5*21，M16转G1/2

9 WPJA0334WXX T23上管固定杆 1 H59  22.5*30

10 WPLC0001WXX M5*5尖角螺丝 6 SUS304 M5*5

11 WPLC0035WXX M5*16圆柱螺丝 2 SUS304 M5*12

12 WPOE0086WBK O型环 1 NBR 12X 2

13 WPOE0087WBK O型环 6 NBR 12X 2.2

14 WPOE0119WBK O型环 1 NBR 16* 1.5

15 WPZA0089WXX  24.3固定圈 1 H59  24.3*10

16 WPZA0XXXWCP G1/2连接套 1 H59  26*49

*Water Entry Point: Recommended installation 
height is between1700-1900mm from the finished 

shower floor.

63
5

90
0

˚

400

43
0

63
5

10
0

11
50 


